3 (Sem—-4/CBCS) ECO HG/RC 1

2022

ECONOMICS
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( Principles of Macroeconomics—II )
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Full Marks : 80

Time : 3 hours
The figures in the margin indicate full marks
for the questions '

1. Answer the following questions (any ten) :
1x10=10

O 2PIATRT Bed ot (R e w=h)

(a) What is aggregate supply?
AEF @A e 2

(b) Write the meaning of effective demand.

sery oz = forn |
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(c)

(d)

(e)

(g)

(h)

(Y

0)

(k)

Who first coined the term qliquidity
preference’?

‘TR -AfS’ 7O (@A AUTee ke 2

What does LM curve denote?
LM @1 & gum 2

Define multiplier.

QI AR 77

What is marginal propensity to
consume?

AEF TogsIs 2Tl & 2

Write the meaning of transfer payments.

ZBIEI oW A1 RNy Wy o

What is creeping inflation?

T 1 TS A R 2

What is Phillips curve?
oo @ 2

Write the meaning of demonetization.
Rygar sy for |

What is meant by full employment?
o fcaer s e & @ 2
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() Write the meaning of balance of trade.
e serR S fox |

(m) Define exchange rate.

fRfg 2R Sz fovan o

(n) What is effective exchange rate?

Ay REm g 2

(o) Forex is

( Fill in the blank )

Forex SIC |
( <1 B1R 2R 41 )

2. Answer any five of the following questions :
2x5=10
Cor PR R GRICAT 6B % forar

(a) Distinguish between long-run period
and short-run period.

R S 2 &S AL (TS |

(b)) What are the factors determining
aggregate demand?

AT viRwR YRR SameR & &2

(c) Distinguish between inflation and
deflation.

RIS W SRS Aers N [y 40 |
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(4)

(d) What is meant by demand pull
inflation?

SRS A 2

(el Mention two features of foreign
exchange market.

s R Iw<3 151 C3fE Soay 4 |

(/ Name two main types of exchange rates.

RfATw 2133 701 2R’ AW foran |

(g) What is meant by a deficit in balance of
payments?
AN Frere e Wew [ own = 2

(h) Write two causes for shift in aggregate
demand curve towards right hand.

AT wIEA (@31 GieTE TEERe (@ER IR
WOl foran |

3. Answer any four of the following questions :
5x4=20

Cod PR R P 51t T foran

(a) What are the components of aggregate
supply? Briefly explain.

ANET @ISR SAmeeTeR [ 2 vt IR faa
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(5)

(b) State the limitations of IS-LM analysis.
IS-LM Romes ARaei IS 341 |

(c) Differentiate between aggregate demand
function and aggregate supply function.

AT () TR T WE ANES (P) @5
T TS NI YAl |

(d) Discuss the concept of multiplier as put
forward by Keynes.

(PZACE SIACTRT BIFI YIRECOT A1 B4 |

(e) Distinguish between current account
and capital account.

ofere RBp1el W g fRprerd e #nefey o |

() Discuss the components of aggregate
demand.

T (J5) BIRAIR SAMIARI ST 31 |

(g) Discuss the structure of foreign
exchange market. '

R Ry IwR 1571 [T e 341 |

(h) Explain how the exchange rate is
determined and mention the factors for
exchange rate determination.

R 9 @ FdRa v @ o R =1
4T IR TATEIR SeEd A |
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4. Answer any four of the following questions :
10x4=40

o] 2R B e viftR el ford

(a) What are IS and LM curves? Discuss
the features of IS and LM curves.

IS W LM @41 Iitd 2 IS-LM @¥R
MBI e /41 |

(bp) What are the assumptions and
limitations of multiplier?

QY FAfSYRTN JF HyRFTeIR &2

(c) Explain the causes of demand-pull and
cost-push inflation.

viRATS(S W IJ-JFasie @RS FRPHR
T 0

(d) Mention the features of inflation and
how it can be controlled.

\ sy RFEEPME S N W TR
@tE a3 [, fo o

(e) How is aggregate supply affected in both
short run and long run? Explain.

ZFIE WF NEIA (Pl ANEE @6
HoIA® T3 2 AT 41

22A/1129 ( Continued )



(f/ Explain the effect of MPC on AD curve.
Why does aggregate demand curve slope
downward?

ANEAT TIEW @R 8RS SoreR AifEe
AT (FCACI 2SR AR AT 41 | AT
BI3AT (RATTTH AT CECEl 57 =W 2

(g) Explain how IS curve is derived.
IS @1 Ve =3 31 =W I 40 |

(h) Discuss the causes of excess aggregate
demand and ways to correct them.

Sfofie ANET BIRAR FRT SF WS TN
IR JIEPTR 1S, D1 40 |

(i) Analyze the relationship between
inflation and unemployment.

e wF FER SHER TEe 991 9|
e T4 1

() Explain the Keynesian theory of
inflationary gap.

@R JEFHIS FT OGO I A |

* %k
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